This question paper contains 8 printed pages]
B—318—2017
FACULTY OF SOCIAL SCIENCES
B.A. (Second Year) (Fourth Semester) EXAMINATION
NOVEMBER/DECEMBER, 2017
ECONOMICS
Paper VIII
(Statistical Methods)
(MCQ + Theory)

(Wednesday, 22-11-2017) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
N.B. .— (1) Attempt All questions.

(it) All questions carry equal marks.
(zit)  Use of calculator is allowed.
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(Gii) USRI STIUIE QLETT 3R
MCQ
1. Multiple Choice Questions : 10

SgIAE UYA Hiean

(1) Base year prices and base year quantity are shown by :

(@ P19y @) Ppogo
() p19g (d  poa;
oo Tuiel fohAd oMM o3 eli=it AT hlval 9AEM Seifada .
@ P19y @) Ppogo
() Dp19g (d  poa;
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Who defined “An analysis of the co-variation of two or more variable
isusually called correlation” ?
(@ M.A. Toytell (b)  Bowely
(c) Bodington (d)  Karl Pearson
" Hegay Taveioor € T8 O3 318 i STl Hed Haldiel HeHa e Stelciehdl
Sl Sd’ g e o=l ?

(@ THE I (b) TS

) R (d) e fHerREs

In which year the first index number framed in the words ?
(@) 1500 b) 1700

(c) 1750 (d) 1764

S FEYH HIUe el RS TR el Bl ?

(@) 1500 b) 1700

(c) 1750 (d) 1764

Which of the following is kind of correlation ?
(@)  Positive and negative correlation
(b) Simple and partial correlation

(c) Linear and non-linear correlation

(d) All of the above

TCAedeh] IVl HEEaHEl JhR TR 7
(@ = eTfor HU HeEey

(b) @ s SR HeHaH

() ~ THF oMfr oRET Heway

(d) =l e
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5) Which is not one of the following measures of Dispersion ?

(@  Range (b)  Quartile deviation
(¢0 Mean (d)  Standard deviation
WeTetiesh! v IRAT faeemeias A& ?

(@ fo=r (b)  =gdE foa=ed

) HHARR He™ (d)  gET fored

(6) If standard deviation = 25 and mean = 5, then find the coefficient of

variation :
(@) 50 (b) 500
(c) 5 (d) 100

Ry fawed = 25 Nt gHRR We = 5 o= e s

@ 50 (®) 500
e 5 (d) 100
(7)  Solve :
@ 0.6 ®) 6
) 66 d 10
Hrea
2 40 - 10
(Al [Ulen = 40 + 10
@ 0.6 ®) 6
) 66 d 10
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(8) If Xp1q7 = 750 and Ipyg; = 500, find out the Paasche’s index number :

(@) 1.5 b) 100
(c) 150 (d) 160
SR Ipyqq = 750 3T Ipyg; = 500 T urw==n frewme when -
(@) 1.5 b) 100
(c) 150 (d) 160
9) Solve :
-32
"= Je4 \16
(@ 2 (b)  0.50
e 1 @ -1
et
32
"= Je4a 16
(@ 2 (b) 0.50
e 1 @ -1

(10) If —16b = -32, find the value of b :
(@) -2 b 2
(c) 48 d) 16
SR —-16b = -32, R b o HA fohel ?
@ -2 ® 2

() 48 (d 16

86FESFDE3068E36A4773C9158AB74E3A



WT ( 5 ) B—318—2017

Theory
2. Calculate the standard deviation and coefficient of standard deviation from
the following data : 10

X F

0—5 5

5—10 8

10—15 10

15—20 15

20—25 12

25—30 7

30—35 4

35—40 3

@it Hifgdie STER YA fo=e™ o =1 Uk +dl .

X F

0—5 5

5—10 8

10—15 10

15—20 15

20—25 12

25—30 7

30—35 4

35—40 3

Or
(fenam)

What is Correlation ? State the types of correlation.
TeHoY WU HE 7 HeHeu™ YR |

P.T.O.
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Calculate the coefficient of correlation from the following data : 10
X Y
10 20
12 22
15 25
18 28
20 30
22 35
25 38
30 40
35 45
TeAtd Aifed= SMeR Tedsy U hrel
X Y
10 20
12 22
15 25
18 28
20 30
22 35
25 38
30 40
35 45

Or
(fenam)

Define Index Number. Explain its importance of index number.
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(7))

@)

4. Attempt the following questions (any two) : 10
Calculate Fisher’s index number from the following data :
Goods 2000 2001
Po q P1 q1
A 4 2 5 3
B 3 3 4 2
C 2 1 2 1
Calculate the Quartile Deviation from the following data :
X F
10 5
15 7
20 10
22 15
28 12
30 10
35 3
40 5
Regression line
Standard Deviation.
ETATcAeh] HITARl dF g9l W faer .
wreftel Afedien omem freren fdene @ -
& 2000 2001
Po 20 b1 71
A 4 2 5 3
B 3 3 4 2
C 2 1 2 1
P.T.O.
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X
10
15
20
22
28
30
35
40
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( 8)

F
5
7
10
15
12
10
3
5
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